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Instructions for the candidates:

1. g9&rff OMR Sv—93 Uv 3797 797 Geasr &Hid (10 Siwl &7) 31997 ford |
Candidates must enter his/her Question Booklet Serial No. (10 Digits) in the
OMR Answer Sheet.

2. geIErRll JerrTda 379 Sl H & 9w @/

Candidates are required to give answers in their own words as far as practicable.

3. gIle 3IIv &R ¥ 139 gV 3 quier [l @vd &/

Figures in the right hand margin indicate full marks.

4. go] P qTgdE YT P 177 GYEnIl w15 [H9C @7 A FHT 19T TIT

g/

15 minutes of extra time have been allotted for the candidates to read the

questions carefully.
5. Jg 77 gtaar g @vsl d [@wiford & - @Us—3 IV GUvs—q |
This Question booklet divided into two sections-SECTION-A and SECTION-B
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6. @re—37 7 70 aegiTT 7T & [orTH W [FE] 35 FII @7 FAY &7 SHard &/ 35 T H

SfIE BT TV &7 YT FH 35 BT & qoUIHT EFIT| HAF FIT & [ 1 3 [FERT &/
§7PT GOV &7 @ [y SUerE @¥rd T TY OMR Sov—yFe 4 [V 7Y Wl [dmey @l
At/ @Iet FicT UF 7 TG BV e o GBI & @IgTHY, TXel arel /e, TegT e
PT OMR STV—YF% H GINT BT 777 & ST T GRTH S~ &7/
In Section- A, there are 70 objective type questions, out of which any 35 questions
are to be answered. If more than 35 questions are answered, then only first 35
answers will be evaluated. Each question carries 1 mark. For answering these
darken the circle with blue/ black ball pen against the correct option on OMR
Answer sheet provided to you. Do not use Whitener /Liquid/Blade/Nail etc. on
OMR Answer Sheet, otherwise the result will be invalid.

7. @Ue— § H 20 THFTNT F97 & FAF & [o17 2 3 [T &1 ford o g

10 J¥9] @ GO I Fard &/ §9p FARFT $9 @O H 06 I TG FIT
ey v & gw & fory 05 3 IR &/ forH & faee 03 g & Gav &7
sifrar &/
In SECTION- B, there are 20 Short Answer Type Questions. Each question
carrying 2 marks, out of which any 10 questions are to be answered. Apart from
these, there are 06 Long Answer Type Questions, each carrying 5 marks, out of
which any 3 questions are to be answered.

8. [&v BV & FATLIH FUBYT BT FIIT qUiaar aroid &/

Use of any electronic appliances is strictly prohibited.
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Yug — 31/ SECTION-A
J&IS U / Objective Type Questions

T G 1 7 70 TF & F99 & G IR 1359 37 77 & for7% & v w8l &/
o781 35 79I @71 GV 3G §IVT g7 TV el [adbey & OMR ¥fic gv fafe7a &/
35x1=35

Question Nos. 1 to 70 have four options, out of which only one is correct. Answer
any 35 questions. You have to mark your selected options on the OMR — Sheet.

35x1=35
1. FrfaRad § |§ SI—41 TR BT Th THR &7
(A) TufaRer # fIeE SRR (B) fafia srawR
(C) (A) 3R (B) 3l (D) T 9 Bl T
Which of the following is a type of opportunity?
(A)Existing opportunities in the (B) Created opportunities
environment
(C) Both (A) and (B) (D) None of these
2. 991 # | o yafaRoiig e S S YWTad B arelT 3Tfdid acd &7
(A) 3@ faerT &1 WX (B) 3mfefe ifoat
(C) IR &1 Refa (D) 7 & |1
Which of the following is a economic factor affecting environmental micro
scanning?
(A) Stage of economic development (B) Economic policies
(C) Market situation (D) All of these
3. fre ¥ QB HT A ¥ AR BRe 87
(A) T@gAM $I T=ITS (B) @AM & WK
(C) SWIG BT THTHRIT (D) SWRIGd a4
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Which of the following is a factor involved in demand forecasting?

(A) Length of forecasting (B) Levels of forecasting
(C) Classification of product (D) All of the above
4. F=faRad | @i AT gaigare &1 fafer 781 27

(A) wdefor fafer (B) wiRegarg fafg
(C) #RfeeE e fafdr (D) It fafg

Which of the following is not a method of demand forecasting?
(A) Survey method (B) Statistical method
(C) Leading indication method (D) Production method

5. 9OTR HATHA BT HIFI—AT ded JATAT T2l BT 87

(A) | (B) |&H qrcTarol

(C) dTSIR HeaRey (D) wfcrar

Which element does not affect market assessment?

(A) Demand (B) Micro environment
(C) Market intermediaries (D) Competitor

6. SUHH & A TR FHRaT &

(A) TPHTH! AR W (B) e B IR W)
(C) |l & W DI IFgAr W (D) 39 9§ B A8l
Selection of an enterprise depends on:
(A) Sole Trading (B) Right of Entrepreneur
(C) Self Ability of Entrepreneur (D) None of these

7. SUDHH DI WIYAT BRd FHY ITAT Bl bl T DT &I AT AMMBE:
(A) TG BT I (B) SHIS BT 3MHR
(C) forcira <mer (D) Sugad &

The factors to be kept in mind while establishing an enterprise are:

(A) Selection of business (B) Size of the unit
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(C) Financial resources (D) All of the above
8. URM® ™ & foy o Uge] a1 b1 Usqsll WR & QAT Taedd &7

(A) TRBRT WAAEHar & Tw (B) wad® | AEfd

(C) a9 & Suterar (D) SWRKH I

Which aspect or aspects are to kept in mind for Preliminary Screening?

(A) Consistency with (B) Compatibility with
Government priority promoter

(C) Availability of input (D) All of the above

9. ol SUhH PT MAITH I

(A) GuiRHTT T el (B) yuTayef e

(C) (A) 3R (B) aMI (D) 9 a1 (A) 3R 7 (B)

Requisites of successful enterprise are:

(A) Well defined organisational goals (B) Effective planning

(C) Both (A) and (B) (D) Neither (A) nor (B)
10. T A9 & T T4 &

(A) IAT HT oA (B) 3rfeRmyl IR

(C) (A) 3R (B) qHI (D) 9 a1 (A) 3R 9 (B)

The main components of business planning are:

(A) Business description (B) Executive summary

(C) Both (A) and (B) (D) Neither (A) nor (B)
11. g RS &1 U A8 &

(A) fem—freee 4 (B) TIderediail &I el d3

(C) Sled ufdd Ue™ & H (D)  Sa F+

The main importance of business planning is:

(A) In providing guidelines (B) In attracting investors

(C) In providing leverage (D) All of the above
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12. e e | enfaa e €

(A) oA &1 e (B) $H—9IRE &I 3MaeTdHdT &l
IERIEECECH
(C) RINI-HR BT e (D) SWad |4

The activities included in business planning are:
(A) Planning the organisation (B) Planning the man-power requirement
(C) Planning of project work (D) All of the above

13. aRATSHT Jawr a8l 8iar &

(A) UHTIHSG TR (B) ®=igpa wifd iR &
(C) fIa=iiga sr=aT | (D) fad=iiga Aift MR 9
Project management is not concerned with:
(A) Functional approach (B)  Centralised policy formulation
(C) Decentralised (D) Decentralised policy formulation
implementation
14, fRARIFHROT URISHT AGE BT ©
(A) Taeme SHEl & SFgROT H (B) fFomiaes foaen @1 gfd @1
ATl
(C) otfaRad srawRi &1 (D) T ¥ P A8l
S3STHT

Expansion project helps in:

(A) Supplementing the existing (B) Capturing supply of critical
resources inputs
(C) Encashing additional (D) None of these
opportunities
15. JEABIBROT I IR o
(A) SdTGT Bl (B) SIGH Bl
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(C) wfsharsii &1 (D) &R B

Modernisation improves:

(A) Products (B) Production
(C) Process (D) Capacity

. IRATSTT gferde HRIE &
(A) Tl & (B) R Bl
(C) fageryor o (D) 3 |
Project report is a summary of:
(A) Facts (B) Informations
(C) Analysis (D) All these

QAYITa JafY AR BT @

(A) < 36t Ufhar @ foru emasyss rafer

(B) TaFRRT @mTd 1 agell & foy iawdd At
(C) ReR &FTd agel & foly arawad arafe

(D) SRR H I PIs el

Pay-back period is related with:

(A) Period required for profit earning process
(B) Period required for cost of investment recovery

(C) Period required for fixed cost recovery

(D) None of the above

. Y€ qaue qog fafy sk 2
(A) TsT BT T e | (B) HsT &1 93 §Y o4 W
(C) T 9T I A &l | (D) SWad H ¥ ®Ig 8l
Net Present Value (NPV) method relates with:
(A) Time value of money (B) Inflated value of money
(C) All present value of money (D) None of the above
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19. fFr=1 & 4 B9 G9EHT BT T YR Td Gid 87

(A) Hifds FarRE (B) dd-iId! FARA
(C) AdIT T (D) Sudad |
Which of the following is a kind of resources and their sources?

(A) Physical resources (B) Technical resources
(C) Human resources (D) All of the above

20. FEET & TIABR H T BT AT § o ofd way frefalad 5
fog fdg R fa=r fobam Sirm =nfey?
(A) | BT SR (B) Wi o1 ggdr
(C) “@HaTt BT 3eqg+ (D) Swad |
Which of the following point is to be considered while deciding about the

role of entrepreneur in mobilising resources?

(A) Need of resources (B) Identification of resources

(C) Study of obstacles (D) All of the above
21. IR UGl &1 JAaeaehdT o

(A) <1 =l BT A 6 (B) 9 @¥Ig & forg

& forg

(C) wId @i & fory (D) oFERI & YITaH

Fixed capital is required:

(A) For payment of routine expenses (B) For purchase of land

(C) For purchase of stock (D) For payment to creditors
22. 99 ol & FEiRe €

(A) < BT AT (B) ®IN & aReldl

(C) BUT DI Y (D) SWRKH I

The determinants of bonus decisions are:

(A) Amount of profits (B) Liquidity of funds
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(C) Age of the company
23. =1e] Uy # e &
(A) IUER
(C) w=Tfd
Current Asset include:
(A) Furniture
(C) Goodwill
24. e Tg 739 R 9 ©
(A) DY BT A
(C) @Y HT Farg =Tal

Depreciation on plant and machinery is:

(A) Sources of fund
(C) No flow of fund

25. f=faRaa & &9 IR—are] wufr 27

(A) =T
(C) gdad =g

(D) All of the above

(B) faferamr
(D) <TER

(B) Investment

(D) Debtors

(B) ®IY & TANT
(D) 39H & BIg &

(B) Application of fund
(D) None of these

(B) 9= fda
(D) <R

Which of the following is a non-current asset?

(A) Goodwill
(C) Prepaid Expenses

(B) Bills receivable
(D) Debtors

26. 1 # 9 - ga—fa=og favayor & SuAfdr 87

(A) SIRIA qaTHA
(C) H—guR

(B) <iGidA 3ffds] &I FHSH

(D) &4 & @it

Which of the following is a utility of Break-even analysis?

(A) Risk valuation

(C) Profit improvement

(B) Understanding Accounting
Data
(D) All of these
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27. 9 # 9 pH—1 ga—fd=og favIyor HT TOET BT aRIdT 87

(A) o fafe (B) <t fafdr
(C) (A) 3R (B) I (D) @ (A) IR T & (B)
Which of the following is a method of computation of Break-even analysis?
(A) Mathematical method (B) Graphical method
(C) Both (A) and (B) (D) Neither (A) nor (B)
28. SR Yol ¥ & &
(A) STa SIRkgH (B) =Rie SiiRkaH
(C) PIg SiReA =T& (D) 3 W PIS 7Tl
Venture capital contains:
(A) High risk (B) Venture Risk
(C) No Risk (D) None of these

29. AR UEfa! vd o e s fafics & wmuer féa 9v &l
=< o7
(A) 1975 (B) 1986
(C) 1988 (D) STH ¥ P el
Technology development and information company of India Limited

(TDICI) was established on which year?

(A) 1975 (B) 1986

(C) 1988 (D) None of these
30. 9RT 9 DY gRT A0 fbar 7ar?

(A) 3IE.UH.HN.3Ts. (B) frvse 9@

(C) < §& 3ifw sfosar (D) &R 9F

India Investment fund was established by:

(A) IFCI (B) Grindlay Bank

(C) State Bank of India (D) Canara Bank
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31. S o Sude ©

(A) 3T WIRgHA gHIEAl B (B) Tl gl &
(C) HRINTA $HhI8AT B (D) 37 9 & forg
Venture capital is available for:

(A) Very Risky units (B) Technical units

(C) Organisation units (D) All of these

32. YRA WBR §RT ORI fRem—Fcel & o uR, d=fie Uoll Iy & forg
FOT —HAT U B
(A) 15 (B) 2.0
€) 05 (D) 2.5

According to guidelines issued by India Government, Debt-equity ratio for

venture capital fund is:

(A) 1.5 (B) 2.0
(C) 0.5 (D)2.5
33. Y9 @1 AT STREIIE BT UHid § AN 8T &
(A) ar &1 |FraEr b1 (B) famar & Araerl &1
INRL!
(C) (A) 3R (B) Mt (D) s A P T
In the nature of social responsibility of management is:
(A) Buyer beware (B) Seller beware
(C) Both (A) and (B) (D) None of these
34, fdT N <9 & A H FIQ D ATITIDT ©:
(A) ifte e o (B) 3mMfYd A @
(C) It T (D) T ¥ B T

The foremost need of development in a country is of:

(A) Physical resources (B) Economic resources
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(C) Efficient management (D) None of these

35. R UTEdh BId o

(A) T 52 a1 AT SR & S°9d ©
(B) ST @RT @l 1@l IUTG WRIGH AT &
(C) S |aTg 3fraT IS Ha BRI AT &

(D) Swad |

Prospective customers are:

(A) People who need Products Services
(B) People who are capable of Purchasing Products or Services

(C) People who want to Purchase Products or Services

(D) All the above

36. @fdTa famg &
(A) HiRged wRfa (B) forRaa wefdy
(C) g7 wegf (D) S < ¢ T
Personal Selling is:
(A) Verbal presentation (B) Written presentation
(C) Visual presentation (D) None of these

37. 3Ud ok § FRferd &

(A) U & & [T Afdd

(B) I fdd RS2 muas! ATl frdT STTGT Bl MIeIHhal &
(C) d T ST gTebl I B+ ANY ©

(D) Sufaa

Included in your market are:

(A) All the people of your area

(B) People who need your products or services

(C) People who are capable of paying for such products and services
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(D) All of the above

38. fazmu+ ®

(A) TS AfFITd AR gfgha (B) U IR—aafddd aHIgor
gfehan

(C) s forRaa Fwsrvor ufdsan (D) SUdTd A PIE TE
Advertisement is:
(A) A personal communication process
(B) A non-personal communication process
(C) A written communication process
(D) None of these

39. ™l BT g 799 U A &
(A) FI—h1feted fad &r (B) 3reu—arafeyy fa &t
(C) <rd—arferad faa &1 (D) T ¥ P =l
Re-investment or ploughing back of profits is a source of:
(A)Medium-term finance (B) Short-term finance
(C) Long-term finance (D) None of these

40. TR U=L9E
(A) T HURT (FHeR) TR & forg g
(B) TP PRI HURT (WHe?) TP T qger
(C) UH FURT (FHeR) DA | 2T
(D) U HURT (FhHeR) ST WRIG JUMell | o2

Under market penetration:

(A) An asset (scooter) is an exchange for another
(B) An old asset (scooter) is exchanged for new one
(C) An asset (scooter) is sold for cash

(D) An asset (scooter) is sold online purchase system
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41. 91 9 4 HH—T AR 1Y BT dcd 87

(A) HHST DI wrfdd
(C) “ggac=g T[T

(B) uRadd # ToR
(D) =79 & w41

Which of the following is an element of sensing the opportunities?

(A) Ability to perceive
(C) Innovative quality

42. Tt G &1 =T Bl &

(A) 99 @ fhaiceas favrer
A

(C) W & fhais
favro=

Social structure is composed of

(A)Functional division of
society

(C) Functional division of

community

43, 39 3roig ufhar & onfier 81 &

(A) =Tt

(C) I grar

The learning process involves:
(A) Drive
(C)Repayment

(A) QUhH HdgR
(C) Wacid o1 Fd8R

(B) Insight into the change
(D) All of the above

(B) fd & fohaicasd favre
A

(D) SWad § ¥ ®I3 T2l

(B) Functional division of caste

(D) None of the above

(B) AT
(D) dre™, HAMTG U4

3rgfhan

(B) Cue
(D) Drive, Cue and Response

44. 9180 qraTeReT St wfeaal | AT g @1 M wea grar g

(B) ®HANI BT FaER

(D) 9dg T FIER
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External environment which is composed of forces that have a general
influence on:
(A)Enterprise Behaviour (B) Employee’s Behaviour

(C) Promoter’s Behaviour (D) Management Behaviour
45. 71 9 9§ o\t IUTG IT HaT BT 19 HRA FHIA ST IGAT IO 81
g?

(A) TR T feriRor (B) wdeTRerar

(C) ufcranfirar (D) Sare e

Which of the following is not to be considered while selecting a product or

services?

(A) Marketing Assessment (B) Practicability

(C) Competition (D) Product planning
467§ DI T e DI IFHIATT DI AT A &7

(A) IRMTH—gd Iaer (B) WRf™® 3rawer

(C) TG qIoIR 3rawef (D) d1€ &I gig 3raven

Which of the following is not a stage of starting of a new venture?

(A) Pre-start up stage (B) Startup stage
(C) Product market stage (D) Later growth stage
47. 91 9 9§ -0 I @ ORAR 9 S 9AT T8l 87

(A) SR ga= (B) o™ e wd &y
IRREL

(©) U A (D) #rT 1 g

Which of the following is not a problem of expansion of business?

(A) Risk management (B) Profit planning and expense
control

(C)Price policy (D) Trend of demand
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48. forae &

(A) 3MMaZIdH

(C) 9T ! qaiar
Planning is:

(A) Necessary

(C) Wastage of time

(A) faframr

(C) 33Uy

(B) SrTaRI®
(D) &9 &I qaial

(B) Unnecessary
(D) Wastage of money

49, IRITSHAT & TIR B R FI fhar a1 g9 &

(B) =3

(D) 3T | PIg el

Money spent on the preparation of project is:

(A) Investment

(C) Wastage

50. STEfhTel| 0T IR BIdT &

(A) Rer <161 <R

(C) ¥ &N R

Long —term loans bears:
(A) Fixed Rate of Interest
(C) Zero Rate of Interest

51.ReR ovra # enfder vear &

(A) &= ATA DI AR
(C) fdd &1 aIrTd
Fixed cost includes:

(A) Cost of raw material

(C) Cost of power

52 f=ferRad § o IR—are] <1ff@ 27

(A) D KT

(B) Expenditure
(D) None of these

(B) uRad=eliel &mat &
(D) SWad § ¥ ®I3 T2l

(B) Flexible Rate of Interest
(D) None of the above

(B) M &I oNTd

(D) SREMI & AR

(B) Cost of labour
(D) Cost of factory

(B) d& srferfdey
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(C) 3re dad (D) gded a7

Which of the following is a non-current liability?

(A) Mortgage Loan (B) Bank Overdraft
(C) Outstanding salaries (D) Prepaid expenses
53.37a3l =re], AU
(A) 2:1 B) 1:2
<) 3:2 D) 4:1
Ideal current ratio is:
A) 2:1 B) 1:2
< 3:2 D) 4:1
54. 9re] 31T BT &
(A) e Rieor s (B) emi—eIft St
(©) fafdrer srgra (D) & ¥ B T
Current ratio is:
(A) Balance sheet Ratio (B) Profit-loss ratio
(C) Composite ratio (D) None of these
55.YSl—T8+ Urifa] &7 adbierd &I Sl © Fifd:
(A) g i fawm (B) Am™IRT® woTa
(C) ISR 3Rl H g (D) Swad |
Capital-investment technique is favoured due to :
(A) Rapid economic growth (B) Social influence
(C) Increment in employment (D) All of the above
opportunities

56.579—T8 UIEife! Sugad © Hifh $HaT aw e §

(A) UG H srfderd (B) uafa # wfefia
(C) ¥Ppfd ¥ wal g3 (D) =79 & w1
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Labour-intensive technique is appropriate because it relates with

(A) Unstable in nature (B) Movable in nature
(C) Constant in nature (D) All of these
57. U9 & UG B
(A) ST UfeT & ®U H (B) 3foid ufet & w9 #
(C) STt uferwr derm ifsta (D) SWa A Pig 4 &l
gfcrT gFl & W |
The nature of management is:
(A) As an inborn ability (B) As acquired ability
(C) As inborn ability and as an (D) None of the above
acquired ability both
58. AT IUTE eIl ardd H &
(A) Ug& Idra- (B) 3m¥cTeT IcUre
(C) wrerfas (D) fg<das
Present production system, infact is:
(A) Direct production (B) Indirect production
(C) Primary (D) Secondary

59. frg fafer &1 TRIRT Ur: UTH, ITARITd rerar Rirera Oy | fhar S
g7
(A) IR Hedid (B) whif~de T fagergor
(C) e fdieror (D) BRIPHA HURHEI

Which method is used in graph, transportation or simplex method?
(A) Linear programming (B) Ceritical path analysis
(C) Product Inspection (D) Scheduling

60. fa=iToT &1 ST &
(A) FWIfad saRl & ST BT
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(B) UTEHT DI FIAT ST AR ARG HRAT
(C) SHTET BT YR Bl
(D) =79 & 41

The purpose of advertisement is:

(A) To attract potential buyers
(B) To inform and guide customers
(C) To make publicity of product
(D) All of the above

61. SFC Act ¥Rd ¥ fobdt a9 # uriiRa fbarr
(A) 1948
(©) 1950
SFC Act in India was passed in which year?
(A) 1948
(C) 1950

62. IFCI b @y § werrfud ol g?
(A) 1939
(C) 1950
IFCI was established in which year?
(A) 1939
(C) 1950

63. ST &
(A) & o™
(C) = @Iy
Dividend is:
(A) Net profit
(C) Reserve fund

?

(B) 1954
(D) 1951

(B) 1954
(D) 1951

(B) 1948
(D) 1956

(B) 1948
(D) 1956

(B) < &1 fafrare=
(D) AAaRd &t &I 379

(B) Appropriation of profit
(D) Part of undistributed Profit
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64. 91U U, GEA &

(A) <rE-3rafer 0T & (B) #HeH-3m@fel 0T &l
(C) sreu-3mafy For Pl (D) STH ¥ ®B 8l
Bond loan is a source of
(A) Long-term loan (B) Medium-term loan
(C) Short-term loan (D) None of these
65. 9 AN BT SIBAH ISR o
(A) il R =19 (B) ™l orTd
(C) i R (D) faxmar
The best example of variable cost is:
(A) Interest on capital (B) Material cost
(C) Wealth tax (D) Rent
66. TTH T HIT—TT SR JURY T8} 2
(A) HREME AT (B) WIUC WR I8
(C) ST BT ad- (D) dad
Which of the following is not factory overhead:
(A) Factory Insurance (B) Depreciation on plant
(C) Drawing office salary (D) Salary
67. fr1 # & Wl ANTT BT SRR &
(A) YTeT ARl ATTa (B) <
(C) PITT Ya=Idh BT da- (D) TI& $H ANTd

Which of the following is an example of fixed cost:

(A) Direct Material Cost (B) Chargeable Expenses

(C) Salary of office Manager (D) Direct Labour Cost
68. A= fafdefraver afied fhar Smar &

(A) <1 Tl A (B) o™ i H
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(C) IR Il H (D) ufg ol |

Generally diversification is classified in:

(A) Two ways (B) Three ways
(C) Four ways (D) Five ways

69. STl b TRIT &
(A) AT @ 9 (B) &R &I ufd
(C) wItaRwT o1 wfa (D) S8 & &
Responsibility of entrepreneur’s are:
(A) Towards society (B) Towards Government
(C) Towards Environment (D) All of these

70. SIS R0 & AE@qUl Ugq &
(A) SUTEA ARl (B) ufshar fRieror
(C) feror fageiyor (D) T8 9 |
The important aspects of product inspection are:
(A) Production inspection (B) Process inspection
(C) Inspection analysis (D) All of these

Yus—9 / SECTION- B
oY SR Ue / Short Answer Type Questions

FeT G 1 ¥ 20 TF 7 FANT &/ §74 H B8] 10 F¥9 & GV 7/

JF & o7 2 3 [TERT 8/ 10 x 2 =20
Question No. 1 to 20 are Short Answer Type. Answer any 10 questions. Each
question carries 2 marks. 10x2 =20

1. TR ARTT FT 87 2

What is opportunity cost?
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2. gHEIfTh Tch HT 87 2
What is social factor?

3. {52l |1 fadvor gearell & 99 9dR | 2

Name any two marketing intermediaries.

4. FaERIdl JIeTIT T 27 2
What is feasibility Study?
5. I Hagd T 8? 2

What is business Promotion?

6. AEAIIS RS @1 87 2
What is business planning?

7. URATSHT FT 5° 2
What is project?

8. URATSTT HeATh & FIT I 57 2

What are the Objectives of Project appraisal?
9. FATEA BT T A 2? 2

What is meant by resource?

10. BRI Uoll & A= YR &1 57 2
What are the various kinds of working capital?

11. DY Yarg fqavor &1 a1 {aw 2?7 2
What are the limitations of Fund-Flow statement?

12. AT9ETISHAT AU FIT ST &7 2
What does profitability ratio show?

13. g—fa=es =g ac w1 2°? 2
What is BEP Chart?

14. et Uoft &1 oy o werd 27 2

What do you understand by venture capital?
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15. 319 T8 Urenfira! aam 87 2

What is labour-intensive technique?

16. 9T T T 3T 8° 2

What is meant by administration?

17. [oradr f=or fafeRl &1 ==r ey | 2
Discuss the methods of quality control.
18. fquur & fasa H T ek &7 2

What is the difference between marketing and Selling?
19. F09F T &7 2

What is debenture?

20. J&F AN &1 57 2

What is Prime cost?

e IR U9 / Long Answer Type Questions
e FE&T 21 W 26 TF ¥ FaNT &/ §79 & 78] 3 Fe & TV &/
JlE & [o19 5 b [7Rd &/ 3x5=15

Question Nos. 21 to 26 are Long Answer Type. Answer any 3 questions.

Each question carries 5 marks. 3x5=15

21.95IR i H MY FT FHSA &7 IR ol IR J91d STel drel

Tch PId-hIT F 27 5
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What do you mean by market assessment? What are the factors affecting

market assessment?

22. IUHH RATIAT BT fhIT=aa MY B BN | 5
How would you execute the setting up of an enterprises?

23, FRIS & UPfa &1 9oi o | 5
Describe the nature of planning.

24 [T BT JHITId HR aret fafi=1 qaai &1 9oie & | 5
Briefly describe the different factors affecting the resources.

25. 315 WIRET T 87 §9d ARV Bl A | 5

What is production Design? Discuss its phases.
26.faqor fAsor BT 31ef 9AST | 3HH DIF—DIF 9 T AfFfed 77 5

Explain the meaning of marketing mix. What elements are included in it?
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